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1.A firm wants to minimize the total cost of producing 150 tons of dynamite. The
firm uses two factors of production, chemicals and labor. The combination of
chemicals and labor that minimizes production costs will be found where

(2)The marginal products of chemicals and labor are equal

(b)The ratio of the amount of chemicals used to the amount of labor used equals
the ratio of the marginal product of chemicals to the marginal product of labor

(c)The ratio of the amount of chemicals used to the amount of labor used equals
the ratio of the price of chemicals to the wage rate

(d)The production of an additional unit of dynamite costs the same regardless of
whether chemicals or labor are used

(e)None of the above

2.The equation below gives the degree of economies of scope (SC):
SC = (C(Qu) + C(Qa) - C(Q1,Q2)) / C(Q1,Q2),

where C(Q;) is the cost of producing output Q;, C(Qy) is the cost of producing output
Q,, and C(Qy,Q;) is the joint cost of producing both outputs. If SC is negative:

(a)There are neither economies nor diseconomies of scope

(b)There are economies of scope

(c)There are diseconomies of scope

(d)There are both economies and diseconomies of scope

(e)There are constant economies of scope

3.A monopolist has set her level of output to maximize profit. The firm's marginal
revenue is $20, and the price elasticity of demand is -2.0. The firm's profit
maximizing price is approximately: 7

(2)$0
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(b)$20
(c)$40
(d)s10
(e)$30.

4.Suppose Chen’s Production-Possibility Curve (PPC) be given by the equation

2 E
= +g =150 where fis the amount of fish and g the amount of grain she can obtain,

depending on the way she divides her time and effort. Think of g as plotted on the
vertical axis and f as plotted on the horizontal axis. Chen’s marginal rate of
substitution in consumption (the absolute value of an indifference curve) is

MRS, =g/ f. Then,
(a)Chen’s consumptive optima: f= 10, g = 50
(b)Chen’s consumptive optima: f= 10, g = 100

(0)If Chen is discovered by a world market in which P, =5 and P, =1, then her

productive optimum is f=5, g=274

(d)If Chen is discovered by a world market in which P, =5 and F, =1, then her

productive optimum is =15, g = 137.5

(&)If Chen is discovered by a world market in which P, =5 and P, =1, then her

productive optimum is f= 10, g=137.5.

5.Suppose Mary’s preferences are represented by a marginal rate of substitution of
good X forY MRS, = EJ:, that prices are £, =3 and P, =1, and that income is [ =
x

180, If a ration limit M =20 is applied to commodity X, what is the optimal

consumption basket?
(a)X =40, and Y = 60
(b)X =20, 20d Y = 60
(c)X =40, and Y =120
(d)X=20,and Y= 120
(e)X =50, and Y = 120.

6.Karl is endowed with R = 24 hours of leisure per day and [ =120 units of
income dollars per day. His marginal rate of substitution is resource supply
inMRS,, =I/R His wage rateis h, =10. How many hours of leisure will he have

BRE




Ay - 374 BiEB X201 24 R 4E L RRA

1B @R RE myk : 374
gaﬁ: 635‘%5 £ 8 Az% 3 X

per day?
(2)12 hours, and he earns 50 dollars per day from labor
(b)15 hours, and he earns 60 dollars per day from labor
(c)18 hours, and he earns 60 dollars per day from labor
(d)18 hours, and he earns 80 dollars per day from labor
(€)15 hours, and he earns 80 dollars per day from labor

7.The demand function for a certain economics book is given by P = 20 — 0.0002Q,

P and Q are the unit price and quantity respectively. The publisher’s marginal cost is
MC = 6 +0.00168Q. The author’s royalty is 20 percent of total revenue, and wants to
maximize her royalty income. Then,

(2)The publisher’s preferred price is P=15 and quantity Q=5,000

(b)The publisher’s preferred price P=19 and quantity Q=5,000

(c)The author’s preferred price P=15 and quantity Q=40,000

(d)The author’s preferred price P=10 and quantity Q=50,000

(e)The author’s preferred price P=15 and quantity Q=50,000

8.Suppose there are 100 identical firms in an initially competitive market, Market

demand is given by P = 10 — Q/200 and market supply by P =1 + Q/200. If the 100
firms formed an effective cartel, for maximum aggregate profit: (Assume that the
industry supply curve is simply the horizontal sum of the firm marginal cost curve.)

(2)the profit-maximizing price is P = 7, output is Q = 600

(b)the profit-maximizing price is P = 5, output is Q = 600

(c)the profit-maximizing price is P = 7, output is Q = 500

(d)at the profit-maximizing solution, each firm is assigned to produce q = 6, while
it would like to produce a desired output of q = 10

(e)at the profit-maximizing solution, each firm is assigned to produce q = 6, while
it would like to produce a desired output of q = 12.

#Please answer the next problem 9 and 10:
9.Consider the demand functions for a pure public good X, = 12-2P and
X, =18-2P for two consumers, where P is the price. Suppose the price of all other
commodities equal 1. If this public good is supplied by a perfectly competitive market
with the marginal cost MC = X/2. Then,
(a)The equilibrium price and quantity of this public good is $4 and 10, respectively
(b)The equilibrium price and quantity of this public good is $5 and 12, respectively
(c)The equilibrium price and quantity of this public good is $5 and 10, respectively
(d)Consumer surplus for both consumers is $45
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(e)The total surplus (the sum of consumer surplus and producer surplus) for this
public good is $75.

10.If the pure public good in the last problem is instead provided in a private
market, however, Consumer 1 can become a free rider and not purchase any of the
pure public good. Only Consumer 2 purchases it. Thus,

(2)The equilibrium price and quantity of this public good for Consumer 2 is $4.5
and 10, respectively,

(b)Consumer 1’s consumer surplus is $33.75

(c)Consumer 2’s consumer surplus is $25

(d)Producer’s surplus is $25

(e)The total surplus for this public good is $74.25.

11.Considering the following utility function representing a household’s
preferences for commodities X, and X,: U(X,,X,)=min(5X,,3X,) The
household is facing prices F =8%1 and P, =$3, with a given level of income, I =
$180. Thus, .

(a)The optimal level of X, is 30

(b)The optimal level of X, is25

(c)The optimal level of X, is40

(d)The optimal level of X, is 50

(e)The budget line is X, +5X, =180

12. Two duopolistic firms facing the demand functions
q,=18-2R+P, gq,=18-2P,+F,
With zero marginal costs. Thus,

(a)The Bertrand equilibrium price is B =6

(b)The Bertrand equilibrium quantity is ¢, =10
(c)Maximiziﬁg joint profit, the price is P, =8
(d)Maximizing joint profit, the profit of firm 2 is 7, = $81
(e)Maximizing joint profit, the profit of firm 2 is #, = $72

13.The market demand and supply functions for rice are:
demand Q7 =26-2P supply O°=-9+3P
The government imposes a support price at P° =10, and will buy up the surplus
supply at the support price. Thus,
(a)Consumer surplus under the support price is $36
(b)Producer surplus under the support price is $24
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(¢)The government spending of purchasing the surplus supply is $150
(d)The government spending of purchasing the surplus supply is $130
(e)Producer captures $27 of the consumer surplus.
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